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Your assighment is:
e simulating Register file

L N N _
module 1 rFile(input [4:0] rsl, rs2, rd
input clk, writeSignal
input [31:00] data
output[31:00] dataOutl, dataOut2
)
e simulating ALU
200
module ALU( input [31:00] firstInput, s \dInput,
input [03:00] alucont s
output [31:00] ALUout,
output Zero);
endmodule

x0 register is always zero

we have thirty two 32 bit registers

you can change the rd register in negative edge of clock

initial value of each register is zero

« in case you want to use always loop ALUout and zero should be reg
data type
o for shift instruction only use 5 least significant bits of secondInput

« don't forget to initialize reg date type




ALU Ctr Operation
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shift left logical

shift right logical

set less than
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